H18 H23
< >
—

-

19

13

WG




ANURUDIETE
LL=E¥DET

— gy,

e iRIE

[EEER RS

BN

BS/-0.05m+
‘ H?htll‘l — p

; . | Dy A (FEfD




B.S. L. +0. 8m

% ‘AE\: *E‘lji\‘ z/g H::ﬁ @ S5=1:50

24920

24460

460

DL=B. S. L. -1. 000

B.S.L. £0.00m

TiET

400

BT liAEn—L

Z Z. % 0

B. 5. L. 0. 50m

30
B

12

AT

(B840 c m : = TAEATFA)

(FPE6cmll )

I % 4

[ AREANER

# R | 1:50 |E@ES |

p¥de!

BEHER L

|

NS RER
BEENANEHH




o
oA SAK -7k
- -
“ -
/ B / —
P /
e /
Q
) lllllllnllll
N /
\
A
FH=BSL-0.20
- O
=
% K D
| b
; 5
()
\ / #2000
500 v
VBSL+0.40 VBSL—0.20
,g RARAKR
13
Q
(@]
¢
N 8 I F 4
= | i S ﬁ\ B & ARHAER
— FKOoRldecml EXE2 4m ® R | .20 |E@#9 |  ®em
B H A % & A
ERSRHR
EENAIEHB




14

12 A

[m]

14

12 A

[m]

10 A

o N O~ O
L ! ! ! !

10 A

o N M O
L ! ! ! !

L 04

4/1 5/1 6/1 7/1 8/1

--04

4/1 5/1 L 6/1 7/1 8/1
5/16

[B.S.L. m]

[B.S.L. m]




1 N i I '

s X ET B

HIEM

anl

(EBXxk@d ssmatnsy ]

Bk AE
(#thED)

=ty - [iEkE |
e S g e e~ _ bl -
e . P i o k[~ _ E i [
;-?®3/@ghﬁﬁém5 - . PV _ ~ N T BRI
REHM 1
£ v
=— i l:._“_ | m
--‘ J. r
[REESURHEEEKIERY FLAHTD
DEYLKH)
- 3 S sth 8 i 4B -

)

g %ﬁ%x i

6 (050~ 15012E) \/

BETE K%
SHEIK




S=1:50

Nq 4
B
1000
8100

BAAD 300
‘ I=1800 | 1800
&60& \2500

1~ @ wN

! I WL BT
700 : s (1= 15, 1=
| DL=BSL~1.000
_ |
FH=1+0.50 FH=—0.40 | Af (09100, 1 =1500)
H A B g i i
\‘ ‘\ [ k 1
. B e Ak Al i 114 fir :2 - :2
Tl - I " il -
o N
i ) I v I:
- [

1600
300 1000 300
7 6 150 E .
EKE A DYk =]
= < 1 T2 1000x 1000 8%
C i —A!
: | SIS
N~
[JE—— T 1050 ze F
45;2 f 5 N

(@]
e
S | =

=%
B
1l
¢ cl

[T

(S;J Kk "\ TTH E; - :3
/ 1400 5350 Rl B2 1

1000
(DALY 1) H450 300 - 1800
- o| o
g &8
e :
i o o ©
S| O M
6000 3600 8100 w110 320m)/ N\ N qcroem 1< 1000
(BBE2R)
3600 4500
JU-FIIE
T—2. 7000x T000M B 1f 700
g R
AR (t=15 1=700)
- i s |
S S— vB.S.L+0.00 el o
I TS ’iiiiiiiiiiiiiiiv,%i&gf@é%@iiiiiiii* v e
[e]
Q| FH=+0.50
I F 4
BE 4 Ak - WAk T-BE
DL=BS[—-3.00 ® R | 15 EEE3| %z
mHEAR ¥ £ A
st SRR
EE NI SR




%.t
L =5000

2000

H P 18 X

S=1:50

H IR

VB.S. L. +0. 40

2000

2
BE
M

S L. +0. 40

VB.S. L. +0.00

VB.S.L.-1.00

1700

AL
KOldcemPl EXE3. 4m

DL=B. S.L.-4.000

34

1700

I % &

@ 4 AR

# R | 10 [mmEs | zzn

T T & A
At AR

BB M) B




X ML TR

s I
= M

== HENN

e
-

¥ o e < 3
T LA
18R
KON

SR EL—

233 )

_ e b SR St 4
S = TN - A

O N O

FHEROER
| WAOET

J

Y )

B33 -« 29UV KR

e

35 -
AN mg;-ﬁym
e DiEE

1 2
(cm) (cm)
(cm/s) (cm)
2 6 04 5 7170 10
1.1
4 17 |05 4 71110 10
2.1
5 11 /08 5 8|85 10
1.7
70cm/s
2
85cm
2
10cm
Jﬁfjg : (0Bl F
4 N
85cm/s
10cm
. _J




(1)

=1.0m

A
A 4

I

v max=0.1m

1710

?}il:

TEQ
X=b i
Q:fx OCw'ha/z'gl/de

X=b
:fx=0CWr . (h 1+ n X) sz . g 1oz d X

=Cw-g'"? {(h2) *°— (h.) *°} 7 25n)

ViV

Vmax = 2 gh:3) 2

Vmin= 2gh. 3 '°

iz, Q : & (m */S)
V max, V min : [GEE DR K, F/NE (m/s)
Cw=#ifR% (= 0.61)
g : BAIEE (= 9.8m/s *)
hi, he: @8HAKE (m)
n : EEOHMIAE (n = 1/N)
b : BEGEIE (m)

0.024m3/s 2

0.024x 2 0.048 0.05m3/s
Vmax 0.81m/s O0.0Om/s 0.81m/s






